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101 el H] 639,674 650, 132 210,458
09 RIAHAZZIE=S 639,674 650,132 A 10,458
Oz 2e3dg3 340, 167
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SAM: S AICHE It
M HH2FHHI (T AIHE D)
chl: QA2 A
SN EY O (BH) - MRAY - BLS 01l & o e
A= 1,304,800 x12& x14H 219,207
- SRy 90,000& *12& x14% 15,120
- A& 70,0003 x12& 149 11,760
- JtHA2 &I 110,000& *12& x 149 18,480
—ZAHZ A 160,000& * 123 x 149 26,880
- WS XH| 140,000& *12& x 149 23,520
— P A4 100,000& *12& x 149 16,800
— CH2I S ALY 50,000& x12& x14H 8,400
oA = 140,949
-Jg=g 1,874,800& x200%+* 14X 52,495
-&d2xg 1,874,800& *87%*14H 22,836
— XM eadl 1,874,800 x250%+* 14X 65,618
OIE=¢ 11,520
— i< 40,0003 x12& 149 6,720
- &S 20,0003 =128 x20Y 4,800
OZE SOt 1,874,800 *120%* 14H 31,497
O=U22Y 97,342
-sY2Rg 107,520 #4824 x 149 72,254
- R sSFo=E 89,600 x202 x14H 25,088
OXHeEHI x5 9,629
— =5t 51,4003 43| *7YH 1,440
—nSstd 409,450 43| x59 8,189
OZEEH stz X 300,000& x5 1,500
O=zZ22eldI=H S 2,982
-Xg=(sS) 50,000& 14 700
- &HA5(ot=) 30,000& »14H 420
-t (49]) 50,0003 14 700
- gst5(5t2l) 15,000& »14H 210
-ge 10,000& *14Y 140
-9 35,000& x14H 490
-2 A st 23,0003 *14H 322
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SAM: S AlCHE

M HEHAH (ZAIHE D)

Chel: ozt o] (cHel i el)
SN HB SR (BIH) - A - B S 0l &b S D=2
= = FAG - BES &5 Ofl & 04 ree

OS2 2eld Aot EA o= Zaldl
7,000 x14H «34I %12 3,528
Oz 2eld ez XA
20,0003 14 *23| 560
203 HRF&H 7,260 7,260 0
01 JI22dPR=48] 3,000 3,000 0
OEA=ZE 3,000
04 RBEN2IYRFLYI 4,260 4,260 0
OZ& 312 355,000& 122 4,260
Jl23| 92,481 89,797 2,684
Jl=3d| 92,481 89,797 2,684
201 LEH23H] 18,081 15,397 2,684
01 Atf2teld 18,081 15,397 2,684
O=AEXNFY 1,885
A 18,0003 90 A 1,620
—B4 25,0003 »58F A 125
- A3 35,0003 48 A 140
O&EUH-gHl 4,664
— S A 55,000 * 104 550
—ODEiE(Y 175,000 =184 3,150
—OEIE(Z 175,000& 44 700
—FAX 88,0003 *3H4 264
ORAM2EII2+E 10,000& *31H x 12 3,720
OAIZt2 2R ItZ Al
7,000 *31H 34 %12 7,812
202 OdHl 74,400 74,400 0
01 =Wobl 74,400 74,400 0
OZLHN bl 200,000& *31H x12& 74,400

HRES(ZACHED) 121,048 120,450 598
HEHH K= 121,048 120,450 598
Met2te|Dlg 893 121,048 120,450 598

702 JISNEZ 121,048 120,450 598
01 JI=sd&E3 121,048 120,450 598
02000 & Mit2edls HE 121,048
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